A - A Wi

S=1/100

HAak 7L — A

T —T7+—5 H300XW200 HErE 15008 F

RV — 24

200 : 200 200 200
2‘00 1300200 4309 1300290 1300 200 300 1300 ‘ 1300 ‘
1 1 1 1 1 1 1 4{
] | | | 11 I I I N ] I I =
I I N I I B e
FUh—Ey
= B4 2.0 50X50 D10 1=400
iy AT (= o stivs
REFFRINGE30) o gy D16 L=750
45,200 ‘
100 1500 ‘ 1500 _ _ 1500 1500 _, . 1500 _ 1500 _ 1500 100
(=]
g ¢ B |
— T 8
XK RN | &
S S =
= S i
—_— O
Lo
_—
- §§§§§§§§§?:‘ RIS -
S s re)
g 2
- <
8
—_—T N
S R RRRRRRRRRR: o~
z . 5
- 0'0‘0'0'0‘0'0'0::3:5
X - g
Q r N
™ S
o e 10
S S =
i} ]
_—0
[Te)
S I ey
= 8
ot l o
Lo
- O
o o
(=) o~
2 =
- O
(=)
[a\]

100

fE A=k

TR

A FERA KA (6=30)

RAS 1T R

alza
$2.0 50X50

TIE—TF— A

(A13-B17) S=1/10

1300

——

T T8 —
D10 L=400 D16 L=750

W=y MEDAYXT Tl —

¢ 13 L=400 (7v730)

1700

filifkr =y hEDAYF T I —

i D13

JEES

4H#EB

hAE
(W= =>h)

WRASS U M i

200

¢ 13 L=400 (7v730)

S=1/10

M=y MED AT TV —

#4M ¢2.0 50X50

¢ 13 L=400 (7>2730)

Tl A2 FAA AT (=30)

]

™

300

D16 L=750

S =1/100

Teh—ty
D10 L=400

LA SRR A

6’00

N Mkt =y MDA T —
v 613 L=400 (7>230)
1,000n1 249
a0 KKk Kk | HAL WL
$2.0
SR T. 1,000 |t
50X 50
i =k H=220 ] o | 2mac=1,300
3041 ) 292.4 | 1
AL3-BIT 301X 108 % (1,000/1,026.04) L
A b
1 AYFT I — (3051 X 10B X 24%) X (1,000/1,026.04) 584.8 | A HDZ 35
(797 30) L=400
TTUE=T5=h| H300XW200 [(3151X 5% < 4.3m+651 < 45.2m) X (1,000/1,026.04) | 914.0 [ m
) D16
TUH N 3151 < 16E% < 14X (1,000/1,026.04) 4835 | &
L=750
D10
TYH—E 3051 < 68% < 24 % (1,000/1,026.04) 350.9 | A&
L=400
R D13 (3151 % 22.Tm+62% X 45.2m) X 475 X 0.995kg/m 3.7817| ke
% (1,000/1,026.04)
(6% % 45.2m < 0.06 i +3141] X 58 < 4.3m X 0.06 nf)
EAHIL 54.84 m
% (1,000/1,026.04)
i (3051 X 108 X 1.3m X 1.275m+30%1 X 5% X 1.3m 1999 X 20
£ % 1.25m) < (1,000/1,026.04) | == | ™ v
T A= Ep R AF
. 3051 X 10 X (0.25m X 0.22m/2) X 1.3m . (=50HE
ffif==> bR X(1,000/1,026.04)=10.453m°| 209-1 | uf ‘ B
10.453m’ < 0.05m AR 1:0.5
e T A 3041 < 21.5m X 1.3m % (1,000/1,026.04) 817.3 | nof [V TR

S
THAEFERT IR AT (£=30)

AN ¢2.0 50X50




